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201 LetEIH| 15,500 0 15,500
= 10,850
& 2,325
2 2,325
01 At 22l 10,000 0 10,000
OSRNUSHY S R2IBANNAS
10,000, 000& 10,000
= 7,000
= 1,500
s 1,500
02 ZE=23Hl 5,500 0 5,500
OSSMUSELHAIZ S X 22l 5,500,000& 5,500
= 3,850
= 825
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SN E 23 E =+ 980,000 1,274,708 A294,708
= 499,000
= 330,850
i = 150,150
FOINBSI BIHA ABHE ZHFY| 140,000 0 140,000
= 98,000
& 14,700
2 27,300
402 SI2H 201 140,000 0 140,000
= 98,000
= 14,700
i 27,300
01 222 EX 140,000 0 140,000
O 20T S BIHA ASSE FHFY|
Abel 140,000,002 140,000
2 98,000
& 14,700
2 27,300
I E 23 HE =AY 590,000 1,274,708 A684,708
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= 66, 150
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401 Al EHIL 201 590,000 1,274,708 A684,708
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= 103,920
== 15,750
= 29,250
OutZ LA EHES 59,460,000& 59,460
= 29,460
L= 10,500
= 19,500
O3 EF=HIHI 79,280,000& 79,280
= 55,280
L= 8,400
= 15,600
O FHF=HEY 99, 100,000& 99,100
= 69, 100
= 10,500
= 19,500
03 AIE=20bl 4,680 9,286 4,606
OUHIAMUSHE=HEH 204
200,000,000& * 0.72/100 1,440
= 1,440
OUHRAANNMNELAE=HEH 20
150,000, 0002 *0.72/100 1,080
= 1,080
OdEGAMOISAEEE 2|
60,000,000 *0.90/100 540
= 540
O EFHEH 2OHHI
80,000,000& *0.90/100 720
= 720
Ox=AFHF=HEY 204
100,000,000 *0.90/100 900
= 900
HAANISHE =HEH| 250,000 0 250,000
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01 2I2ZtXt2Ex 250,000 0 250,000
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== 250,000
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== 526,500
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Otfst 2 =HE Yl S|
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OoZHEES 20l
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OO0I8gSMAFH2A=HFHl SO
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& 900
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OEAAMA=HEL 20bI
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OLH R AL AFTH EHE S AL 50,000,000& 50,000
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= 12,500
JIEt23HAIY 2H 200,000 61,000 139,000
= 200,000
401 Al&HI LS04I 200,000 61,000 139,000
= 200,000
01 Al&HI 198,560 60,341 138,219
O X2 ARISES=AE 198,560,000 198,560
= 198,560
03 Al =204l 1,440 659 781
OXAKFHZACIAZL S EFAMEY
200,000,000& x0.72/100 1,440
=2 1,440
Ctotd X8t 2 EE 2,406,031 4,733,217 AN2,327,186
Il 20,454
= 1,007,598
= 1,377,979
HZE2EFO A F&A 794,470 737,460 57,010
Il 20,454
& 7,598
= 766,418
HZELE ME . HR 72,000 63,000 9,000
201 Zet=gl 72,000 63,000 9,000
01 AtR 22l 70,000 60,000 10,000
Ogt==2H| 70,000
0O 2ZEEHESIME 1,000&+10,000F %12 10,000
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0.E=MZ 15,000, 000& 15,000
02 =234l 2,000 3,000 A 1,000
OZ232= ¥ HAl 2,000
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3,000,000 204 Ax122 72,000
0.200|EZ2 DT DS (AATSTAHN)
4,643,8882 x 3 Ax128 167,180
0.+CAUS ST N(AAZESIAT)
150,000 x20CH 122 36,000
0.HAIEZ N (2 L AlBHA)
120,000 *40CH » 122 57,600
0. A MR U AAT QA HEMWHESR
10,000,000 10,000
O=&tl 1,470
0. 2LELAR=Z 7,00084+301% 70 1,470
02 2223 13,320 7.200 6,120
O2222 2 MAl 13,320
0.0 HZDE(ME,AHAIRS
360,000 122 4,320
0.LEONMZEH(EA)MIIRZ
750,000 <128 9,000
202 04 H 6,480 6,120 360
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OJ1=2d 2= 0| 180,000 *30! x 122 6,480
232NN BSX 63,000 56,400 6,600
7l 20,454
[ 7,598
2 34,948
301 LErE A 63,000 56,400 6,600
7| 20,454
< 7,598
2 34,948
12 JIEIEAS 63,000 56,400 6,600
O 2 ZHLEAMBSXH 63,000,000 63,000
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2 34,948
LA SRR 13,420 14,050 B30
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401 AlAHIL 2T 1,550,000 2,700,000 A 1,150,000
= 1,000,000
= 550,000
01 A& 1,544,420 2,700,000 A 1,155,580
OJI MBI Z M= RAY  1,544,420,0009 1,544,420
= 1,000,000
= 544,420
03 Al =0 5,580 0 5,580
Ol AtetE S ML= R AR R THY|
1,550,000,0002 #0.36/ 100 5,580
2R N L AL 8,291,556 3,983,942 4,307,614
= 4,219,000
= 1,183,099
= 2,889,457
YRS 67,898 1,674,159 A 1,606,261
YRS 67,898 52,159 15,739
101 Q12| 8,166 11,509 13,343
04 JIZHIZNSES 8,166 11,509 £3,343
OF SIS & & W52l 0l 2 e 3,472
0.123 34,9102 %101 x602 2,005
eSO 34,9102 %101 12 419
0.221013 7,679,000 *4.5/100 346
0. 2422 H 7,679,000 %2.665/ 100 205
0.0 XY 205, 000! *3.275/100 7
0.6 ) 2 & 7,679,0002+3.9/100 300
0.182H 7,679,0002!*1.3/100 100
OR s TSR R 3,056
0.01=23 34,9102 %101 x50 1,746
eSS 34,9102 %101x20 699
0.=p103 4,888,0008! *4.5/100 220
0.2 H 4,888,0002! *2.665/ 100 131
0.-0XIRY 131,0008%3.275/100 5
0.6 T 2 & 4,838,0009%3.9/100 191
0.0828 4,888,0008%1.3/100 64
OMEZTANLAISH 222 1,638
0.01=23 34,9102 %191%30 1,048
eSS 34,9102 %101 13 454
0.221013 1,048,000 *4.5/100 48
0. 2422 H 1,048,000 *2.665/ 100 28
0.-0FII2YY 131,0008%3.275/100 5
0.6 ) 2 & 1,048,0002 %3.9/100 41
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o 2=EAE SEA 2
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Ozs32= % HAl 11,880
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01 Al&H| 10,000 3,000 7,000
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& 3,407,000
& 1,022,100
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= 1,267,700
01 Al&HI 3,613,570 0 3,613,570
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O ME S =H A =HEX0
500,000,000 500,000
03 A&=20Hdl 8,430 0 8,430
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= 1,596,000
& 478,800
= 1,117,200
401 AIEHIZ 2Hb| 3,192,000 0 3,192,000
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SN

I‘I iH:

=

[palpa )]
= &

= E M
U o fon
M {0 o
w2
0K g
=

C}—Ol:

SA-EFH - SA(SAH) - MREAY - BES o

[
2
2
R
12
o
£l
0l%
IS

308 AXIEHSOIA 21,670 0 21,670
13,000
3,251
5,419

M HY oY

KJII

SNBSS AFAY
21,670,000&

21,670

21,670

21,670

13,000
3,251
5,419

M HY o8

SEZ2AZAEISEE 713,330 0 713,330
428,000
106,999
178,331

M HY o8

308 AXIEHHSOIA 713,330 0 713,330
428,000
106,999
178,331

M H oY

05 MHAHM2AELS 713,330 0 713,330
OXeclttd sEZot 22 AIEOISZE MY

713,330,000& 713,330

428,000

106,999

178,331

M HY 08

Kel ot A H 22 &SI 45,000 0 45,000
27,000
6,750
11,250

M HY O]

308 AXIEHSOIA 45,000 0 45,000
27,000
6,750
11,250

M H O]

05 XbXIEHH 2t

2= 45,000 0 45,000
OXlc| st A H 2

HBZAZHLAY  45,000,0002 45,000
27,000

6,750
11,250

M H O]

SIS =EANESHE 75,000 0 75,000
45,000
11,250
18,750

M HY OR

308 NHXISHHSOIE 75,000 0 75,000
45,000
11,250
18,750

M HY o8

g= 75,000 0 75,000

75,000,000& 75,000
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SN 2B
M BB AL
Sl Tl MBI LR SREE
_ _ _ Muo
A B3 C9(30) - MRAY - B2 Ao il ot o =2
3 45,000
= 1,250
2 18,750
NEREESES TR 25,000 25,000
3 15,000
= 3,750
2 6,250
308 XHXIEHH SO & 25,000 25,000
=l 15,000
= 3,750
2 6,250
05 RXISHALEL 25,000 25,000
OXZIMABBESRILAY 25,000,002 25,000
3 15,000
= 3,750
2 6,250
2ZoIE0I2Y 38,330 38,330
3 23,000
= 5,749
2 9,581
308 XHXISHH SO & 38,330 38,330
3 23,000
& 5,749
2 9,581
05 XX 223 38,330 38,330
OX2IAHMRZOSIH OIS YA 38,330,0009 38,330
3 23,000
& 5,749
2 9,581
B EAANY N R LRI ES 300,000 300,000
3 240,000
= 18,000
2 42,000
308 XHXICHHI SO & 300,000 300,000
=l 240,000
= 18,000
2 42,000
05 RXISHALL 300,000 300,000
OXZIM4HNZ LI X E LA 300,000,0002 300,000
3 240,000
= 18,000
2 42,000
AWE HSBS X 4,909,997 A1,519,323
3 1,000,000
| 371,704
& 735,125
2 2,803,168
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SN 252D
HH: AFE HEES X
o9l TRNSES 245 (29l @8
SN EB -GS - MBAY - BES 0 & 24 e HRE2
2oNSES 243 595,728 946,252 A350,524
] 71,704
= 3.125
= 488,899
NEIEBENEEEPINEE2S, 381,000 491,000 A110,000
307 S12+0 & 353,000 424,000 AT1,000
03 ASIEHA 2 X2 30,000 30,000 0
OMEZ M3 2% Ng 15,000,002 15,000
OMFT MBHSHSYNE 15,000,008 15,000
04 DI2EHALE E 323,000 394,000 AT1,000
OSRIRISHEI BAX 110,000,000% 110,000
ONSPLH4+5LT & 10,000,000% 10,000
OBLCTHBNSHSH &I} N
60,000, 0002 60,000
OAZSEH SN & A 30,000
0.%= 3] 1,500,000 <1074 52 15,000
0. MEXS3 1,500,000+ 104 5 = 15,000
OXI2I&Ha 7HAIZ HMS0ha &0t
20,000,0002! 20,000
OMFTIIRSHES20UE 20,000,008 20,000
OH K0l AL X 2 5,000,0002! 5,000
OB 3|2 SBHH 3N E X & 10,000,0002! 10,000
ONS2AUMBHSUHEAIIXA 8,000,000 8,000
OBAYTRA CHEIHE XA 30,000,008 30,000
OZSUCLAMSHAZAEY 20,000,008 20,000
308 XHXISHHISO0IE 28,000 62,000 34,000
06 WS BN = XS 28,000 62,000 34,000
0121l HSSS SHXE
4,000,0002 +774 2 28,000
SNES- PRERERIESL! 8,000 9,000 A1,000
| 4,000
= 4,000
01 Ysteaz 8,000 9,000 A1,000
5] 4,000
= 4,000
EEEEESE 8,000 9,000 A1,000
OS0EHLAURUE LTSI
8,000,0002 8,000
8] 4,000
= 4,000
MEHS GESAES 29 7,000 7,000 0
= 6,000
2 1,000
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SN
X{ ZH -
S Tt

=l

I3
B

MY Ao
e o
oy
s 0
)
o
LV

10
iy
on

SNBSS - MEAY - BES

rz
J2

20
B
2

307 2I2tol &

M

7,000

6,000
1,000

7,000

02 DI2+A A

2,000,000&

M H1

5,000,000&

H

7,000
2,000
1,000
1,000
5,000
5,000

7,000

HYH HEMSXN A XS

X

104,640

52,320
52,320

94,176

307 21201 &

X

104,640

52,320
52,320

94,176

02 QItFABE

O
Rl
o
0z
e

SN XX 2

104,640,000

X

104,640

104,640

52,320
52,320

94,176

U

17,080

5,693
11,387

15,120

307 QI12t0ld

EURCH

17,080

5,693
11,387

15,120

B A
>

(@)

N
O
0z
o oY
x0x
ot

17,080, 000&

M

17,080
17,080

5,693
11,387

15,120

MEHsZz208 N2

U

12,240

3,672
8,568

12,240

307 QI2told

U

12,240

3,672
8,568

12,240

02 Q12 At

12,240,000&

Mk

12,240
12,240

3,672
8,568

12,240

X

20,928

10,464
10,464

20,928

307 GI2t0ld

X

20,928

10,464
10,464

20,928
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SN 2B
My A¥E NSEBS A
ool ROUNSHE B (9l & 2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
VI PR S 20,928 20,928 0
ONZAMSMBISNEEY 20,928,008 20,928
| 10,464
2 10,464
MEHSESSLN L 35,000 40,000 25,000
= 15,000
2 20,000
307 Q1201 35,000 40,000 25,000
= 15,000
2 20,000
04 QIABALRE 35,000 40,000 5,000
OB MY TX AN HTECHS! HA
35,000, 0002 35,000
= 15,000
2 20,000
ATE G2 H ALY 9,840 6,788 3,052
| 4,920
= 760
2 4,160
307 Q1201 9,840 6,788 3,052
| 4,920
= 760
2 4,160
02 PIANBAEE 9,840 6,788 3,052
OAZZ BI2H AL 9,840,00024 9,840
| 4,920
= 760
2 4,160
PRS- 451,119 853,068 A401,949
ITHSAERY 269,519 97,892 71,627
101 o124t 22,639 16,330 6,309
04 JARZRISES 22,639 16,330 6,309
OBE2SHFHTY ALY
34,9102 x201 x602 4,190
OFMBAFTHTYIQIRY 34,9102 201 x452 3,142
OUTYSHFFHIH QLY
34,9102 x201x302 2,09
OZETHFHFYIALY  34,9102%201+252 1,746
OxZxn2RY 84,0002 %191 *152 1,262
OMZHSZY 2eloRy 10,204
00122 34,9102 %121 2002 6,962
0. xt4g 34,9102 101 x452) 1,571
0.2VAYLEE 13,232,000 *2.665/100 353
0.0828E 13,232,000 *1.3/100 73
0.4THEEE 13,232,000 3.9/ 100 517
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SN 2D
N oide MRS K
°@Hel: MsAE2E (Ste & &)
S BB (EH) - NEAY - BAS b 52
ol &t o
0.=281H3 13,229,000& *4.5/100 596
0.L0¥IQAEEET 353,000 *3.275/100 12
201 Let29h| 74,904 60,862 14,042
01 AtR2t2|H| 10,010 11,450 A1,440
OgBr=2H| 7,350
0.3Aa2222 22 100,000 *50 Al & 43| 2,000
0.25=H= 250,000& *13] 250
0. 83000 Z 50,000& 3 A 12 1,800
0.201&H| =5 275,000& =120 & 3,300
O= &l 2,660
0 MsgfFd 7,000 401 %80 2,240
0 HEEHIAZR 7,000 x201x30 420
02 =323l 64,894 49,412 15,482
O0322= % HA 60,694
0.8J1td EHH+R 287,120 =128 3,446
0.3 BRUAE==2 110,000& = 12& 1,320
0.A0I=23 6,600 +12& 80
0.8J1232 4,200,000& x12& 50,400
0. 4023 364,000& *12& 4,368
0.83te3 90,000& *12& 1,080
OA&EEHI= Xl 4,200
0.33MSAMESXZL(HUAE HOIESE
JHZEAIAE) 2,700
oAia 5,000& 500 & 2,500
03ItZ 4,000 & x50 200
0.UHMS2AIHAMELHIRXES
500,000& =13 500
0.=YHINHAEEISXES  500,000&*13] 500
0.8IANE2H2RXE = 500,000& *13] 500
202 O HI 4,800 7,200 A2,400
01 2UioiH| 4,800 7 200 A2,400
OJl=eas0t) 100,0002 «40! 122 4,800
206 M= Hl 2,000 0 2,000
01 M=z 4l 2,000 0 2,000
=2l E8H &, €U, 0AIEFR Y
500,000& x4 3] 2,000
307 QI2t01A 160,176 0 160,176
05 2IZtRAEF 160, 176 0 160, 176
Ox=g&, HNHZ &2+ E 160, 176,000& 160, 176
405 XH&tE SHI 5,000 3,500 1,500
01 X&L2BEFHSHI 5,000 3,500 1,500
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PN 23221
X EH: D
o T

S MEALSY (B9 @e
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
ORSHSHHEII 7Y 5,000, 0002 5,000
AR HSALHE 181,600 335,000 153,400
401 Al&HIL 20| 181,600 135,000 46,600
01 Al&H| 181,600 135,000 46,600
OZZTHSALSRLZS
6,000, 0002 *57} £ 30,000
OOFeI B AT AR 10,000,0002! %274 & 20,000
OSHEARDHSALES
600, 0002 * 1174 S &t 6,600
OBLSSHS MU HAZSBA
20,000, 0002 20,000
OBLSSHNBAZASYIDH
15,000, 0002 15,000
O+YHBAA(XGHEI)24  10,000,0002 0,000
OBLSSHZTUIHUIZA 10,000,000 10,000
OUZYSHYZHUIHIBA  40,000,0008 40,000
ONGIEAZLHAISEXIZ A 30,000,0002 30,000
TTHSA LB 3,863, 150 4,630,000 766,850
= 1,000,000
| 300,000
= 700,000
= 1,863, 150
g MEBHSIH ZHAY 2,000,000 2,500,000 500,000
3 1,000,000
= 500,000
2 500,000
401 A& 2,000,000 2,500,000 A500,000
= 1,000,000
= 500,000
= 500,000
01 Al&H 1,992,800 2,491,000 498,200
SN STRATLAY  1,992,800,0008 1,992,800
= 1,000,000
= 500,000
2 492,800
03 Al& = CH| 7,200 9,000 A1,800
OLRMSNSTATLAL 20|
2,000,000,0002 * 0.36/100 7,200
NEHSTE Z&AL 503, 150 30,000 473,150
401 A& 503, 150 30,000 473,150
01 Al&H] 500,000 30,000 470,000
OBYERX SA2(22,622m)  500,000,0002 500,000
03 Al& = CHH] 3,150 0 3,150
ONEMSHSTAZLAY 20|
875,000, 0002 %0. 36% 3,150
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SN

I‘I iH:

oy
il
S

H=sgs A&

0K TY MO
O 2 o

ool BRASAARR CERE)
_ _ _ Muo
SA B G(E) - NEAY - B 0] &t o4 Sl e HREZ
MEZSEHLAZ RS AY 500,000 900,000 400,000
L= 200,000
= 300,000
401 A &HIZL 204 500,000 900,000 2400,000
& 200,000
i 300,000
01 Al&H| 496,400 894,330 A 397,930
OtEZSHHILIAT 2|22 496,400,000 496,400
< 200,000
= 296,400
03 AIZ R0 3,600 5,670 A2,070
ONBRTHEHLAZ 21288 04|
500,000,000& *0.72/100 3,600
MENERHE LA 860,000 0 860,000
Il 300,000
= 560,000
401 Al&HI LS04I 860,000 0 860,000
Il 300,000
i 560,000
01 Al&H| 858,110 0 858,110
OMEZH2ERE & ALY 858,110
0 M= M2EE A 798,110,000& 798,110
Il 300,000
i 498,110
0 ME H2ETE DALY B
60,000,000& 60,000
03 AIZR0iH 1,890 0 1,890
OMEH2ERZ ALY S0
300,000,000& *0.63/100 1,890
Hees(2sr22) 2,015,891 2,350,000 A 334,109
LHEHHXI = 2,015,891 2,350,000 A 334,109
Fot=dEIIz A5 100,000 0 100,000
02 JlIsdES 100,000 0 100,000
01 JI=sd&E= 100,000 0 100,000
OZsH=rEIISHE 100,000, 000& 100,000
HEXEIIS 70,000 100,000 230,000
02 JI3EES3 70,000 100,000 30,000
01 JI=sd&Es 70,000 100,000 230,000
OXM=dEIS &5 70,000,000& 70,000
STMLAY dE 1,845,891 2,250,000 A 404,109
701 JIEfSI HE == 1,845,891 2,250,000 A 404,109
01 JIEtI HEE3 1,845,891 2,250,000 2 404,109
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